
COMPONENT CHECKLIST

Technical Summary

EAN: 7350073737840

X3

X1X2X4

1000mm*3

X2X3 X6

X4 X6 X6 X6

B1 B2 B3 B4 B5 B6

X8X2

M5

3mm 5mmM8x10M8 16X    8.2X1.5 Lag bolt Anchor

AA BB CC DD EE

Page 1 of 2

X6

FF

M Wallmount Pro MBWW3U 
Fixed Black, 300cm

M Wallmount Pro MBWW3U 
Fixed Black, 300cm

3010mm[118.5″](Min)~3185mm[125.4″](Max)

3010mm[118.5″]
10

0m
m

[3
.9
″]

20
0m

m
[7

.8
″]

30
0m

m
[1

1.
8″

]
40

0m
m

[1
5.

7″
]

542
6m

m
[1

6.
7″

]
R4.5mm[0.2″]

82.5mm[3.2″]
55mm[2.1″]

42.5mm[1.7″] 40mm[1.6″]

50
m

m
[1

.9
″]

10
8.

8m
m

[4
.3
″]

15
0m

m
[5

.9
″]

18
3m

m
[7

.2
″]

M5X15 M6X15 M8X25 6X   6.2X1.5

X4 X4 X4

A1 A2 A3 A4

X4

M8X45 6X   8.2X1.5

X4

A5 A6 A7

X4 X4

3X   8.2X13

www.multibrackets.com



B1

AA
1.

3. 4.

5. 6.

2.

EE

B2

3mm
5mm

Page 2 of 2

a. Brick or concrete

b. Wood

B6

EE

DD
1000mm

DD
1000mm

DDx2

7.

www.multibrackets.com

A4

A1/A2/A3

A6

A5

A7

B3
B4

B5

B3
B4


